1 qais Gu asA Guell udd Asal MR sul UsiR-L 54 uuaml 2ud 8 7

(A) adlsa 54 (B) aUu- sd

(C) 63 &4 (D) Rad sd

To avoid overturning of vehicles on curves, the type of curve

provided 1is -

(A) Vertical curve (B) Transition curve

(C) Compound curve (D) Reverse curve
2 dda i sl e A Coaqury 8.

(A) - (B)

©) s4 | D)yl

In gravel road, the binding material used is -

(A) Cement (B) Lime

(C) Clay (D) Surkhi

3 IRC 3o, A 23 W2 3Rid ARu2q Gama 24 & -

(A) 1 in 12 (B) 1 in 16.7
(©) 1 in 20 (D) 1 in 30
As per IRC, the recommended value of ruling gradient in plain :
terrain is - :
(A) 1 in 12 (B) 1 mm 16.7
(C) 1in 20 (D) 1 in 30
4 IRC o, sual Gsla (e) ol quid < €ldl B,
(A) 5.7% (B) 6.7%
(C) 0.15% (D) 0.35%
As per IRC, superelevation (e) should not exceed -
(A) 5.7% (B) 6.7%
(C) 0.15% (D) 0.35%

AAEC4 D] 3 [ Contd...



5  SSD-l aeiadl s2al e A3l awdll ySaz-l wiivi-l Qg 24 voysedl
GlausS Y2l Qaii »ud | ? ' ’

(A) 1.5m, 025 m B) 1.2 m, 015 m
(©) 1.5m 0.15 m ‘(D) 1.2 m, 025 m

In the calculation of SSD, the height of eye level of driver and the
height of object above road surface are taken as -

(A) 1.5 m, 025 m (B) 12 m, 0.15m
(C) 1.5m, 0.15m (D) 1.2 m, 025 m

6 ‘Dl su usd Fad 8 ?

(A) US| (B) Aaaeleds
(©) Wlsdlue (D) Gu+tl ~81y
"No Parkihg‘ isa-

(A) Regulatory sign (B) Wamning sign
(C) Informatory sign ‘ (D) All the above

7 wHeldle - adel AU AsAA 4 (NE-1) st el slaeiy 8 7
(A) SR Al AsuA 4
(B) AR Y2 UsANA 4
(C) usleu Al sy 4
(D) A-eus v AsABA 4

The Ahmedabad - Vadodara National Expressway (NE-1) is
known as -

(A) Indira Gandhi expressway
(B) Sardar Patel expressway

(C) Mahatma Gandhi expressway
(D) Chimanbhai Patel expressway

AAEC4 D ] 4 ' [ Contd...



10

WS A ed - _

(A) ulien | [HsR , (B) us fsi [ wad RisR
(€©) wA RsR | Waus R (D) sd-t ulkien [ sd [sR
'Poisson's ratio' is - - .

(A) Stress / Strain

(B) Linear Strain / Lateral Strain

(C) Lateral Strain / Linear Strain

(D) Shear Stress / Shear Strain

g ologaoll ARAUA Hedwdiefl v adl wa v wscaysl -
(A) a'/36 (B) a*/12

(C) a*/8 (D) a*/4
For a square of side 'a', the moment of inertia about centroidal axis
is given by -

(A) a*/36 : B) a*/12

(€ d'/8 (D) a*/4

a5 3dlaz ol wuvll dots U w kN/m +Ql AMRddld MR Al 8. B
251 WA Au-yeld e - ‘

W = | ®) -
wl | wl
- ® T

A cantilever beam is subjected to an u.d.l. of w kN/m on entire length.
The value of bending moment at the fixed end is -

& == ®) *-
. ,
© 3 o ¥

AAEC4 D | 5 [ Contd...



11 ol % 2 WR sd-el 9d du il gl Y 8.
A g (B) ~y-dd
(©) #sun (D) i+id
In a beam, where S.F. is zero, BM. is -
(A) Zero (B) Minimum

(C) Maximum (D) Infinite

12 oflu-l g2+l B 2uog 1 Al ofln+ll s Sedl wn 7

3E7 El
(A) — (B) 47
2ET S
Sl ®

For a beam with far end is fixed, its stiffness is -

3ET 4kl
(A) g (B) e
2E1 6ET
©) 7 | D) 7

13 e daai U GUR A 3 B
(A) »i8ly elo (B) »ially awy
(C) sd-miiR (D) iyl
A strut always carry -
"(A) Axial compressive load (B) Axial tensile load

(C) Shear force v (D) Bending moment

AAEC4 D ] 6 [ Contd...



14

15

16

M dicll Sl oin B3 og €A dl dl AWk deusd
2.

A) 1, =1 B) I, =2l

©) 1=1/\2 D) 1 =1/2

For a long column, if both ends are fixed, its effective length will
be -

A) 1,=1 _ B) 1, Y

©) L =1/\2 (D) A, =12

Maddls Swi, adael v ARaL 21U 8.,
(A) QB. (B) W.CB.

(C) Q.B. x4 W.CB. (D) Gud A3y <%

A Prismatic compass gives bearing of a survey line.
(A) QB. (B) W.CB.

(C) Q.B. and W.C.B. (D) None of the above

AQERML RS ¥ WL YR YAddls A 2AAAS ol daml 2 ©
d A 58 89,

(A) A= Wb (B) si15+a WIS+

(C) AT~ WS-2 . (D) Gud 213y s

In le\}elling, the staff station on which both back sight and fore sight
are taken is called -

(A) Bench mark (B) Final point

(C) Change point (D) None of the above

AAEC4 D | . 7 [ Contd...



17 Bddls Surid olsy 1 g € 8.

(A) ¥la (B) a
(C) 2+ : (D) AyPMuy
- The box of Prismatic compass is made of -
(A) Steel (B) Brass
(C) Tron _ (D) Aluminium

18 ddaemi yedl-l oous W ywd -

(A) 0.785 &2 (B) 0.01122 &?

(C) 0.0785 & D) 00673 &

In levelling, the correction for earth's curvature is given by -
(A) 0.785 & (B) 0.01122 &2

(C) 0.0785 d? (D) 0.0673 &2

19 s usiR-u udaeHi yedll odous eu-i dai wd 8 ?
O (A) @ wdam , (B) siSuks udas
(C) @»dilrsa udawl (D) opu- udawl

The branch of surveying in which the curvature of earth is taken
into account is -

(A) Plane surveying (B) Hydrographic surveying
(C) Geological surveyihg ‘ (D) Geodetic surveying

20 AWARs A~ suL Guswemi S B ?

'(A) BAler (B) Rslense
(©) sux (D) -l
Which instrument is fitted with anallatic lense ?
(A) Tacﬁeometer : (B) Theodolite

(C) Compass (D) Planimeter

AAEC4 D | 8 [ Contd...



21 QAmil s Ba DAl A © 7

(A) 1 cm =50 m (B) 1 : 42000

(C) RF = 1/300000 (D) 1 cm = 50 km
Which of the following scale is the largest one ? |
(A) 1 cm = 50 m (B) 1 : 42000

(C) RF = 1/300000 (D) 1 cm = 50 km

22 el RRAMAD Fan Q- a2d- ey euld 8 7
(A) dra-l Y 2 w4
(B) ara-ll R @A v Asly [R3verd e
(C) souml, 991, RReddl
(D) RFoddr w4 sella [azua
Newton's law of viscosity gives relation between -
(A) Stress and strain of fluid
(B) Shear stress and rate of angular deformation of fluid
©) Pressuré, Veldcity, viscosity
(D) Viscosity and angular deformation

23 12 o daddl el Hydl M2 dupd 8.
(A) eouel (B) ks wE
(C) ax (D) wad
Pitot tube is used to measure of flowing water.
(A) Pressure : (B) Kinetic energy
(C) Velocity (D) Acceleration

24 %9 wdu-dl yae AR QA dl, I HuR -

(A) Ry > 4000 (B) Ry < 2000
(C) Ry = 2000 to 4000 (D) Ry > 5000
If flow through pipe is laminar, its Reynold‘s number will be -
(A) Ry >4000 (B) Ry < 2000
(C) Ry =2000 to 4000 (D) Ry > 5000

AAEC4 D | 9 [ Contd...
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26

27

2
v
op-ilefl-il ulsei 2 g euld ® ?

(A) WeRiud 1w

(B) AR D

(C) @5 se-ll 515285 A
(D) Guad A%y Ay

v2

In Bernoulli's equation, term g gives -
(A) Potential ‘energy
(B) Pressure energy

(C) Kinetic energy of unit volume
(D) None of the above

SISARLS oY el W2 quy B ?
(A) uadlgeR qyRAl |

(B) Malse: yawal

(C) uausdol y213ql

(D) ydas-l 4% "2zql
Hydraulic Jump is used -

(A) to increase rate of discharge
(B) to decrease rate of discharge
(C) to decrease velocity of flow
(D) to decrease energy of flow

Rl A2 a4 quiRal W2 aui GURAML 2ud B,

(A) @y (B) 3@&um seduss
- (0) &b WSS (D) ARAY sedASs
To increase the setting time of cement 1s added to it.
(A) Gypsum (B) Calcium chloride
(C) Hydrogen peroxide - (D) Sodium chloride

AAEC4 D | _ 10 [ Contd...



28 Rudredl Aafla - Wiz Re ol 0» Su 8.

(A) 15 cm x 15 cm x 15 cm

(B) 7.07 ecm x 7.07 em x 7.07 cm

(C) 10 cm x 10 cm x 10 cm

(D) 20 ecm x 20 cm x 20 cm

The size of test cubes for compressive strength test of cement is -
(A) 15 cm x 15 cm x 15 cm

(B) 7.07 cm x 7.07 cm x 7.07 cm

(C) 10 cm x 10 cm x 10 cm

(D) 20 cm x 20 cm x 20 cm

29 9 e/ Rdi-e R 0.6 Qi dl, RA-edl 1 Adlels SilBeui deg wisll
Gaq u¥ ?
(A) 10 kg (B) 20 kg
(C) 30 kg (D) 40 kg

If water / cement ratio is 0.6, how much water is required to be added
for concrete of 1 bag cement ?

(A) 10 kg (B) 20 kg
(C) 30 kg (D) 40 kg
30 sSBel 2uda Ry, d-l Sedfla UL @8l x2dl
Y B,
(A) 50% (B) 20%
(©) 10% - (D) 5%
The tensile strength of concrete is approximately of its
compressive strength.
(A) 50% (B) 20%
(C) 10% (D) 5%

AAEC4 D | 11 | Contd...



31  siBedl afoleldl izl e -

(A) ewy 2R (B) S50 g5 ke

(C) sdl e (D) Gux-l oy %

The test for workability of concrete is -

(A) Slump test (B) Compacting factor test
(C) Flow test (D) All the above

32 L w2 wielldl HivL 2id gaRiadg ot -

(A) 31824P (B) 5663+P

(C) 4637P (D) 5000/P
Kuichling's formula for fire demand of water is -

(A) 3182+P (B) 5663P

(©) 4637JP (D) 5000/P

33 lait wel-d B.O.D. Sl dl d AeMd dLRuA.

(A) 25 (B) 10

© o D) 5

Drinking water will be safe if its B.O.D. is -

(A) 25 (B) 10

© o (D) 5

34  ‘d-alex’ weldl 589 aaRisa wl & ?

(A) o4 (B) 3

(©) andl (D) 38y

'Tintometer' is the instrument used to measure which physidal quality
of water ? _

(A) Odour (B) Colour

(C) Density (D) Turbidity

AAEC4 D | ; 12 [ Contd...
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37

IS : 10500 — 1991 oo lat-t well 2 2RI wr-d adlgd Y&
8. . s

(A) 5.0 NTU (B) 10.0 NTU
(C) 20.0 NTU . (D) 25.0 NTU

As per IS : 10500 — 1991, the commonly acceptable limit for turbidity
of drinking water is :

(A) 5.0 NTU (B) 10.0 NTU

(C) 20.0 NTU (D) 25.0 NTU

wel-l wsuaiS-aidl ‘e’ g2 sl M2 sdl died sl 2ud 8 7

(A) WA e (B) Usaa A

(C) WlaR dled (D) A5 dlea

The valve provided in the water supply line to remove 'Silt' from
the pipe is - :

(A) Sluice valve (B) Reflux valve

(C) Scour valve (D) Check valve

W.C. 27 ydduidll suadl faugd as sl wdud
PR R '

(A) Ada Wy 7 (B) A wdu

(C) a-2 mw (D) AlRANA% Wy
A pipe carrying discharge from W.C. and urihals is called -
(A) Soil pipe (B) Waste pipe

(C) Vent pipe (D) Antisyphonage pipe

AAEC4_ D | 13 [ Contd...



38

39

40

R e Fsiadl 58 ught valae] e 6o 8 7
(A) Al d~dla (B) S-fl-3si+
(C) sy (D) wuAdl{lu

Which of the following methods of solid waste disposal is best from
environment point of view ?

(A) Sanitary landfill (B) Incineration

(C) Composting (D) Pyrolysis

ST CIEN IR m?t d 42 D.O.q w20 g o
Qg AsA.

(A) 2 ppm (B) 4 ppm

(C) 8 ppm (D) 10 ppm

The mlmmum content of D.O. in river water required to protect fish
life is -

(A) 2 ppm (B) 4 ppm

(C) 8 ppm (D) 10 ppm

s seell welll RiausS amaid 58 8.
A) w4 | (B) Yt

(C) #yds 3 (D) 3R 3522
Irrigating capacity of a unit of water is called -
(A) Duty (B) Delta

(C) Cumec day (D) Capacity factor

AAEC4 D | 14 [ Contd...
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42

43

44

Riag 3ua-dl Y] Yoy Aedi-e

(A) s ad+ (B) Aw ald-

(C) adl e (D) Gus A3y «fs
The best alignment of an irrigation canal is

(A) Contour line (B) Ridge line

(C) Valley line ‘ (D) None of the above

el A€l YR+l ‘UREIR AUNAR 6iY’ UL USIR-L oy B ?

(A) 2w W (B) o2 3™

(C) Assla W , (D) adlél 3w
The Sardar Sarovar dam on the river Narmada is
(A) Arch dam (B) Buttress dam
(C) Rockfill dam (O Gty et

sl 2 2 1S, A3 s AR oHame 8 S ?
(A) s (B) BisteusR

(C) wdaduusr | (D) undos

LS. recommendation for the shape of a lined canal is

(A) Parabolic (B) Triangular

(C) Semi-circular (D) Trapezoidal

Suanidl wel-r g Al Mg s

(A) amL (B) gL

(C) eumloias (D) Gud 23y <8
The most serious reason of water loss from a canal is

(A) Seepage (B) Absorption

(C) Evaporation (D) None of the above

AAEC4 D | 15 [ Contd...
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46

47

48

IS : 456-2000 wHiL Mz ®2 Ausui siBe A ¥a-u wllaa Asdl
§523 disd

(A) 15, 1.15 : B): 1.15 1.5
C) 26, 15 (D). 5,290 |
As per IS : 456-2000, in limit state method of design, the partial

~ safety factors for concrete and steel are respectively,

(A) 1.5, 1.15 (B) 1.15, 1.5
(€) 20615 iR 1550

RCC fan-l dantS-ui agdy Gwsdl 3edl adl wdA ?

(A) 10 mm (B) 20 mm

(C) 25 mm (D) 50 mm

In the design of RCC column, minimum eccentricity should be taken
~equal to »

(A) 10 mm (B) 20 mm

(C) 25 mm (D) 50 mm

B D = Qo 23S Sl dl, Wetni quyAdl ARl Ayl 9y A
(A) D/6 (B) D/8
(C) D/4 (D) D/3

If D = thickness of slab, the maximum diameter of bar which can
be used in slab is

" (A) D/6 (B) D/8

(C) D/4 (D) D/3

Ll Aol AR Wa W Wdaq @gdn WL, A2 sl Asut

AR ¥od g A
(A) 0.10% (B) 0.12%
€) 0.15% (D) 0.20%

In RC.C. slab, the minimum percentage of tor steel shall be
of the total cross sectional area of slab.

(A) 0.10% (B) 0.12%
(C) 0.15% (D) 0.20%

Aaup) oo it [ Contd...
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50

51

52

A d = ol Dfldd A o d oleedl agan YA (0(l)
A) 15d (B) 2.0d
(€) 254d (D) 3.0 d

If d = nominal diameter of the bolt, then minimum pitch of the bolt
will be

(A) 15d (B) 2.0d
(C) 25d (D) 30d

DAl s usRA Wa Asuq Al WA vweuy ?

(A) wiRes (B) fMuse

(C) A-S1use (D) @R

Which of the steel section is considered the best ?

(A) Plastic (B) Compact

(@) Semi-comp‘act (D) Slender

Aol otR+l A=R-a fl qqid A dldl AT,
(A) 180 ‘ (B) 145

(C) 200 (D) 140

The slenderness ratio of lacing bar should not exceed
(A) 180 (B) 145

(C) 200 (D) 140

A 32 W QoS =g A3 7, Qi dl, oS I W (Py)
beq ?

2 2
(A) 03 V; (B) 04 17
©) 05y} (D) 0.6 12

For the design of roof truss, if 7, is the design wind speed, then
design wind pressure (P2,) will be

(A) 03 2 ' (B 04

. (C) 05 2 - ADYy- 56 32

AAEC4 D | 17 - [ Contd...



53 % L = uRia-dl 2t i d), aoia wRi+dl agayn Gas dadll €ldl
ASH 7

(A) L/25 (B) L/60

(C) L/45 (D) L/75

If L = span of Purlin, then minimum depth of angle Purlin
should be

(A) L/25 (B) L/60

(C) L/as (D) L/75

54  seQ W s Guyla
(A) WY R+l yolddl 158l s
(B) iyl avdl -l s
(C) I3\ Rat+ll Avyl Al s
(D) usdy que Aeial
The 'Doublev mass curve' is used for
(A) to decide consistency of raingauge stations
(B) to decide reservoir capacity
(C) to decide number of raingauge stations

(D) to know 'maximum rainfall

55 yudl-i ¥ Al well AAS S ud B ANy WA AqlL WL AR 4
Wddl 58 8.

(A) wsdlr (B) wisdlsgs
(C) Asdley (D) wisdlais

The earth layers which contain water and allow movement of water
is called

(A) Agquifer (B) Agquiclude
(C) Aquifuge (D) Agquitard

AAEC4 D | : 18 [ Contd...



56 ‘adus’ul Sl A V7
(A) frux [s duMin - (B) R Rize wxy
(C) aRael dladl e a4y (D) id: wi9el [4e A4y
‘Hydrograph' i1s a plot of
(A) Discharge versus temperature
(B) Discharge versus time
(C) Intensity of rainfall versus time 5

(D) Seepage versus time

57 Al s wes AR Wefot quid ﬁﬁaﬂm WL 87
(A) Rulast | (B) Aeyfi-u |
(C©) -l | - D) A TUEREN PR

Which of the following ingredienf ‘impart plasticity to the bricks
during moulding ? :

(A) Silica (B) Alumina
(C) Lime (D) Iron oxide

58 ‘estSe dlRir 2 sl Yl quan B 7

(A) «1Sdfes ausy (B) u»iR iy
(C) 32 aify (D) sdr @™
The lime used for white washing is

(A) Hydraulic lime (B) Poor lime
(C) Fat lime - (D) Colour lime

59 ‘qdays s’ A+ aAd S B 7

(A) ¥ | (B) 1S wilfRs

(C) wf-du ¥y (D) Gux-L “ai %

‘Bullet proof glass' is made of

(A) Steel » (B) High strength plastic
(C) Stainless steel - (D) All the above

AAEC4 D | 19 | [ Contd...



60 G il u-il uWA Yud sl QU 8,

(A) AW ’ (B) 3™

(C) sdicts sl (D) JURSL ol-uqal
Basalt and trap rocks are mainly used for

(A) Roads (B) Dam

(C) Ornamental works (D) Monumental works

61 Ao Y 1R (D.P.C)N el sy

(A) 2 fle: (B) AA 2R

(C) ud ¥R ' (D) Guas A3y «f%
Damp Proof Course (D.P.C.) is measured in

(A) Running metre (B) Square metre

(C) Cubic metre (D) None of the above

62 10 cm 2dl, 10 m aiol 4 1 m GAl WU Qa-t yQA™HI 19x9%x9
cm Wyl d2dl §2 A ?

(A) 200 A (B) 300
(C) 400 ' (D) 500

For constructing masonry partition wall of 10 cm thickness,
10 m length and 1 m height, how many bricks of size 19x9x9 cm

required ?

(A) 200 (B) 300

(C) 400 . (D) 500

63 PWDA Wyl (MB.) w2 s «. quAY 8,

(A) 35 : (B) 23

(C) 21 D) 15

In PW.D. for measurement book (M.B.), form No. is used.
(A) 35 (B) 23

(C) 21 D) 15

AAEC4 D] 20 | » [ Contd...



64

65

66

well 3Rudaell sudeddl cnayussedl weldl %
dai 9.

(A) 0.5% (B) 1.0%
©) 1.5% , (D) 2.5%

For the rate analysis of items requiring water, the water charges are
added at the rate of

(A) 0.5% (B) 1.0%
(C) 1.5% D) 25 .
FSI :Aaé

(A) Wiz NRYL / ol ¥ selledl ARAA A
(B) w2z 3Ry / A% sl wRU

(C) s sela-l MR / w2 AR

(D) oui % sela-il ARYA A / wle wRA
FSI is |

(A) Plot area / total area of all floors

(B) Plot area / area of one floor

(C) Area of one floor / plot area

(D) Total area of all floors / plot area

WsLll Aot M2 Al agad Rrdi dedl €dl AsH ?

(A) s RUA 5%

(B) 4R AR 10%

(C) s4iR R 20%

(D) sdlR dRu- 25%

For residential buildings, window openings area should be minimum
(A) 5% of floor area |

(B) 10% of floor area

(C) 20% of floor area

(D) 25% of floor area

AAEC4 D | , 21 [ Contd...



67 [adlaga se i) viise awld Yoy © ?

(A) Gu-yd (B) Grix-uluy

(©) elie-yd T (D) slei-yly

The aspect preferred for living room is

(A) North-East (B) North-West
(C) South-East (D) South-West

68  ua-il @A HasA e ] wel- Aqani auiRl Wy D ¥4
RN

(A) sas . (B) & ol$
(C©) Qam (D) HFL

Increase in water level at the bridge site due to obstrucuon to the
flow is called

(A) Afflux (B) Free board
(C) Scour (D) HFL

69 ‘silas ugl-l sele sedl &y ?

(A) Hedn (B) ~Y-idu
©) Y= (D) AR
A critical activity has _ :
(A) Maximum float (B) Minimum float
(C) Zero float (D) Average  float

70 ‘oUR A B oAl Als B ?

(A) uxu [El..ga"]ua[h ‘ (B) uglt [3e duM-

(C) Rizuu-d Rtgg wala D) wala (e axy

A bar chart is drawn for |

(A) time versus activity (B) activity versus resources

(C) resources versus progress (D) progress versus time

AAEC4 D | v » 22 ‘ [ Contd...



71 wel-l wsdl, 3o sl a9y el viSyl wledl W2 s Mdlld ay

Yy 8 7
(A) w9 Mg | (B) oL @+
(C) € (D) Gus 3y s

For excavating trenches for water pipes, drainage line, etc. the
equipment most suitable is

(A) Power shovel (B) Dragline
(C) Hoe _ (D) None of the above
72 oA 83 Aol WAl AMAL] dMdIA MR Q3 usid wloa
Qel 2 8.
(A) ela (B) del
(C) sd-t | (D) Y

For a steel bar fixed at the ends, if temperature is increased, the type
of stress produced is

(A) compressive (B) tensile

(C) shear (D) zero

73 R dyel eiSiaq w2 ded wiell o3l ® 7
(A) 23% (B) 38%
(©) 45% ! (D) 50%
For complete hydration of cement, how much water is required ?
(A) 23% (B) 38%

(C) 45% ' (D) 50%

AAEC4 D | 23 | [ Contd...



74 Wl gddld)l Acdl sHHL RN sM 4L 7

1. ¥y 8-l 2. 4l

3. Agul Y-dl 4.  [H394 8-l
(A) 1,2 4,3 (B) 1,2 3, 4
) 42 L3 (D) 4,2 3,1

The correct sequence of densities of soil in ascending order is

1. Bulk density 2. Dry density

3. Saturated density . 4. Submerged density
(A 1,2 4,3 , (B) 1,2 34

(EF 424 3 ' (D) 4,2, 3, 1

75 WAkl wlesti W dlse v dl3 ded]l daiy & 7
(A) 1.0m, 20 m B) 1.5 m, 20 m
(C) 15 m 25 m (D) 15m, 30 m

For excavation of foundation, the standard value of 'lift' and 'lead'
is '

(A) 1.0m, 20 m (B) 1.5 m, 20 m
© 15m 25 m (D) 1.5 m, 30 m

76 wielld ‘WRu’ § g KRB 7

(A) 3 (B) 9iy

(C) eRiga (D) asadu
The 'aeration' of water removes

(A) Colour - (B) Odour
(C) Turbidity (D) Bacteria

AAEC4 D | 24 [ Contd...



77 Al ssuYsd doRIRY A 2RBE 12

(A) b=2d B) b=d
(©) b=15d (D) b=3d
For the most economic rectangular channel section
(A) b=2 B) b=d
(C) b=15d () b=3d

78 udam Jvud RAUBL RAL M2 2l 2l 22al ARvRL € ASA ?

(A) & ‘ (B) gl

©) AR - (D) uia

For ranging a survey line, minimum number of ranging rods
required are

(Ky 2 ' (B) 3

(C) 4 : = D)5

79 IS : 456-2000 w8l Sz Aauui %3 aydd i Heud Wa-l esiudd
(A) 0.8%, 6% ' (B) 0.6%, 8%
(C) 0.12%, 6% (D) 0.15%, 8%

As per IS : 456-2000, minimum and maximum percentage of steel
required in concrete column is

(A) 0.8%, 6% ~ (B) 0.6%, 8%
(C) 0.12%, 6% (D) 0.15%, 8%

80 sl ld el Qel + A a. W2, yReul oa (R) 3+t afaisll wlous-i

CESET] QURHL @lg AL

(A) b/6 (B) b/4

(C) b3 (D) b/5

For no tension at the base of a dam, the resultant (R) must cut the
base in the central portion. '

(A) b/6 : (B) b/4

(C) b3 (D) b/5
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81 Al 5§ AR ul & ?

(A) ea (B) 8-idl
(C) aw- (D) alz
Which of the following is a vector quantity ?
(A) Mass (B) Density
(C) Weight ' (D) Power

82 % F = wial o, N = donfaBu y d), aduis (n)
(A) u=FxN (B) pu=F/N
(C) uW=NI/F (D) u=F+N

If F' = Friction force, N = Normal reaction, then the coefficient of
friction () will be -

(A) W=FxN (B) u=F/N
(C) K=N/F (D) u=F+N

83  yaril B3 Ylar GY Ay sadl 24 -

(A) 2og (B) BenoRke

(C) Aar (D) wel

The type of support providéd on the end pier of a bridge is -
(A) Fixed (B) Hinged

(C) Roller , (D) Simple

84 s Pigh awldl & wold wRel o Yy Q4 d A & 6o @)
iRl €Y.

(A) 0° " (B) 450
(€) 90° (D) 180°

~ If the resultant of two concurrent forces is zero, the angle
between them is -

(A) +0° (B) 45°
(C) 90° - (D) 180°
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85 'm' eawol usidl A ¥edl GRSU uMdl dHi AAns Adl Rl

sedalsa -
i

(A) mgh : (B) 3 mgh

N 1 2 )
(C) 5 meh D) mgh’
If a mass 'm' is held at height 'A', the potential energy stored in -
it is - '

, s 1
(A) mgh (B) z mgh
. 1 o : ’ ' -
(®) 5 mgh” ; (D) mgh®

86 [d-ea+ 6l[¥o e m@ k2q €lq A ?

" (A) 10 cm . (B) 15cm
(C) 20 em " (D) 30 ¢
The mmimum bearing of lintel should be -
(A) 10 cm (B) 15 cm
(C) 20 cm | (D) 30 ¢m

87 sl surll Wdlii su UsRY $163un ALl ay wqzm S 7

(A) U2 516U (B) ¥lu sgleal
(C) -2 % wda (D) sldu gl
Which type of foundation is most suitable for black cotton soil ?
(A) Raft foundation (B) Strip footing
(C) Under reamed pile (D) Column footing

88 ol [ ouzeudl -l ougl ¥ell €l Ged wwda R 8.
(A) ¥ B) Rfla ‘
(C) la (D) =eide
The vertical face of wall on the sides of door/window frame is
called - ‘
(A) Jamb ' (B) Revel
(C) sill (D) Style
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VA 6 Y12 CTERU S E R

(A) —;— Sl Sl  (B) 1 8-l daa

(©) 1% Serl glana (D) 85 ua sl glaw

Stretcher bond is possible only in :
(A) Half brick wall (B) One brick wall
(C) One and half brick wall (D) Wall of any thickness

elex-{l R sledal Hie sl »uadl udlol R 58 8,
(A) Agle (B) 8\dlul
(C) ad=l (D) @l

Tapering steps provided to change the direction of a stair are
called -

(A) Soffit - (B) Scotia
(C) Winders (D) Stringers

Olor W2l ei-ladl w2 Rd-edl s w2l Gl wd B ?
(A) Yl ueR (B) 3l a4 yaell
(C) 3l 2 3l (D) ot Yl

'Gauged mortar' is obtained by adding which of the following
ingredients to cement ?

(A) Limestone (B) Sand and Surkhi

(C) Sand and Lime (D) Surkhi alone

eidl glaa-dl dois ol a1z €1 dl dui [HcRel ik
Hedl ASH,

(A) 10 m (B) 20 m

(C) 30 m ‘ (D) 40 m

If the length of masonry wall exceeds expansion joint
should be provided.
(A) 10 m (B) 20 m

(C) 30 m ‘ (D) 40 m
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93 yyy qoldl Saq méllni 24 sais goudl Avial, weld v
fl QUi 1 &g 2.

(A) 10% . (B) 15%
(©) 20% (D) 25%

First class bricks immersed in water for 24 hours, should not absorb
. water more than :

(A) 10% (B) 15%
(C) 20% : (D) 25%

94  DA-wsiiel 5§ wdl A QY w8 ?

(A) Aaa (B) 2l

(C) %4 (D) ez
Which of the following soil is more permeable ?
(A) Gravel (B) Sand
(C) Clay (D) Silt

95 @iz SUsAA 22 M2 G s A Ju dedl &y B ?

(A) 2.0 kg, 15 cm (B) 2.0 kg, 30 cm

(C) 2.6 kg, 15 cm (D) 2.6 kg, 31 cm

What is the mass and drop of rammer in case of light compaction
test ? ’

(A) 2.0 kg, 15 cm (B) 2.0 kg, 30 cm

(C) 26 kg, 15 cm (D) 2.6 kg, 31 cm

96 sl A g il B ?
(A) @AM A Réddl d8lR (B) Ml 2 [, @-dl
(©) Q. "«dl (D) [ uddl i1 Y4 sqdl
The Pycnometer method is used to measure - ’
(A) Water content and void ratio
(B) Water content and specific gravity
(C) Specific gravity
(D) Specific gravity and dry density
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97 ‘Euriysd A4 58 WA L2182 ay g 8 ?

(A) dusa = (B) eﬂc-aqwﬂ el
(C©) iusd Wl (D) [Bust wél
Vibratory roller' is suitable for compacting -
(A) Cohesive soil ' (B) Silty soil
(C) Cohesionless soil (D) Mixed soil

98 Wéd ‘Rusdldsa-t’ aal w2, Wd Qdl AL,
(A) ddw (B) ¢
(C) »usd (D) Gua-l ouL %

For liquefaction to occur, soil must be -
(A) Saturated (B) Loose
(C) Cohesionless (D) All the above

99 wd. . ASa ad(lsel Yo, Yl Add -

(A) S (B) M
© O D) C
As per 1. S. Soil classification, silt is symbolized as -
(A) S : (B) M

< O : (D) C

100 IRC oo, & A«aion A3+t 3R A agay wdous -
(A) 75 m (B) 7.0 m
L) 33 m (D) 6.0 m

As per IRC, the minimum width of carriage way for two lane road
is -

(A) 75 m (B) 7.0 m
(C) 55 m (D) 6.0 m ‘
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